CucteMa MeHexMeHTa Kadectsa (CMK)
000 «Bons» ceptuduumnpoBaHa

Ha CoOTBETCTBUE

Tpe6oBaHMAM

CTaHpapTa

1SO 9001:2008 a 5

CepTuduumpoBaHo
Pycckum Pernctpom

(X
KOMMDAHMUA

BONA

Quality management system (QMS)
of LLC «Volya» is certified
for compliance with

standard of
1SO 9001:2008 -

Certified by
Russian Registry

NMPOU3BOACTBO TENNAMUL

AAYHASA AOBYUWKA

moaenb 2020
Tenanua noj coToBbIW NoMKapboHaT

DACHNAYA DVUSHKA

model 2020
cellular polycarbonate greenhouse

22Mm

OnnHa nobas KpatHasg 2 M
any length multiple to 2 m

TexHU4yecKun nacnopt cTp./page
Technical certificate 2-9
UHCTpYyKLMS No cOOopKe cTp./page
Assembly manual 10-36



TexHnyeckn nacnopt «JadyHas [Bylwka»/ Technical certificate «<Dachnaya Dvushka»

BJIATb CTPOro B COOTBETCTBUM C uHc'rpyKuueii W NpaBUuIaMHM SKclyaTaluu,
H3NOEeHHbIMHM B TEXHMYEeCKOM nacnopTre. TexHU4eCcKHuMH nacnoprt o6Gasa-

' CGoopKy M akcnayatayuio tenavubl JAYHAS ABYLWKA» cnepyeTt ocyuiecr-
]
TeNIbHO COXPAHMUTb.

OnucaHue

Tennnua «JAYHAA ABYLLUKA» npeaHasHavyeHa ans co3gaHmMa MUKpoKIMmara, 6naronpuaTHoO-
ro AN BblpalinBaHWs CagoBO-0ropOAHbIX KyJbTyp Ha AayHbIX M NpUycaneGHbIX y4acTKax.

Tennvua MOXKET UMETb Pas/INYHYIO AJIMHY B 3aBUCUMOCTM OT KenaHus nokynatens. HyxkHas
ANMHa Tenaunubl o6ecnevymBaeTcs NOKYNKOM AONONHUTENbHbIX NAKETOB C YAJIMHAOWUMKN BCTaB-
KaMu. Kaxkaaa BcTaBKa yAJIMHAET 6a30Bbl KOMIIEKT Tenauupl Ha 2 M (Tabnuua 2). [OnuHa
6a30B0Oro Komnsekta 2 M. BbicoTa ycTaHOBIEHHOIO KapKaca Tenauvubl 2,2 M.

KapKac Tennuubl M3roToBfAeH M3 OLIMHKOBAHHOrO Xefne3a U cob1MpaeTcsi C NOMOLLbIO BUHTOB
W raek. Tennuua KPenutcs Ha rpyHTe 3aKanbiBaHMEM CMeLMabHbIX OKOHYaHUI KapKaca nnu
Ha GyHAaMeHTe Yepes KpenexHble YroKu.

B KOMMAEKT BXOAUT BCE HEOOXOAMMOE AN KPENNEHUS NOKPbITUA. KoMnaeKkTaums Tenaumubl
NOKPbLITUEM BbIMOMHAETCS MO 3asBKe NoKynaTtens. Tenanua MMeeT Ba ABEPHbIX NPOEMa U [iBe
GOPTOUKM B MPOTUBOMONOMKHbIX TOPLAX.

Ha 6a30BbIi KOMNEKT TpebyeTca 2 MncTa nosikap6oHaTa 2,1x6M TonuwmHon 4 mm. Ha Kax-
[yI0 BCTaBKY - O[MH IUCT Nosiukap6oHaTa pa3mepom 2,1x6 m.

TexHnyecknn nacnopT «JadyHas [BylwkKa»/ Technical certificate «<Dachnaya Dvushka»

Perform assembling and operation of the greenhouse in strict accordance
' with the manual and operating rules stated in the technical certificate.
B Please keep this technical certificate for further reference.

Description

Dachnaya Dvushka greenhouse is designed for creation microclimate favorable for growing
garden crops on cottage and household plots.

Greenhouse might have variable length depending on customers’ desire. Required length of
greenhouse is provided by purchasing of packages with extending inserts. Each insertadd 2 m
to base length. Base length is 2 m. Height of installed frame is 2.2 m.

The frame of the greenhouse is made of galvanized iron and is to be assembled with screws
and nuts. Greenhouse is fixed on the ground by digging special frame endings or on fundament
using angles. Complete set includes all that is needed for fastening of coverage. Greenhouse
may be completed with coverage on buyer’s request. Greenhouse has two door openings and
two small windows in opposite ends.

Greenhouse base requires 2 sheets of cellular polycarbonate 2.1x6 m with 4-6mm thickness.
For each Inserts - 1 sheet of cellular polycarbonate 2.1x6 m.

Table 1

Ta6nuua 1 MapameTpbl TENAULbI
nnowanb KOIMYECTBO SINCTOB
AnnHa Tennubl (M) YKPbIBAEMOTO rpyHTa (M?) nonvkap6oHata 2,1 M x 6 M (WT.)
2 4 2
4 8 3
6 12 4

Ta6bnuua 2 KomMmnnekrauus

BA3A BCTABKA
,Cl,nMHa(Te)rlﬂMlel HOMepa NakeToB HOMepa naKkeToB
M
Ne1 | N°2 | N23 | N24 | N5 N°1 N22
2 - -
4 + + + + + + +
6 ++ ++

greenhouse length (m)

Parameters of greenh

covered area (m?)

ouse

polycarbonate sheets
2,1 mx6 m, pcs.

2 4 2
4 8 3
6 12 4

Table 2 Supply set

BASE INSERT
reenhouse package number package number
ength (m)

N1 | N°2 | N°3 | N4 | N5 N1 N22
2 R -
4 + + + + + + +
6 ++ ++




TexHunyeckui nacnopt «JadyHas [BylwkKa»/ Technical certificate «<Dachnaya Dvushka»

MpaBuna akcnayaraumm

MNepen Havyanom aKcnnyatauMm Tenanua AomkHa 6biTb co6paHa U yCTaHOB/IEHa B COOTBET-
CTBUM C MHCTPYKLMEN. [pKn yCTaHOBKE TENNWLbI TPETbUMU NMLL@MM NOKyNaTento cneayet npo-
KOHTPOJIMPOBATh Ka4ecTBO COOPKM Ha COOTBETCTBUE MHCTPYKLMKU. B HEKOTOPLIX AeTansax ocTa-
loTCcs CBOOGOAHbIE OTBEPCTUSA, ABNAIOWLMECS CNEeACTBMEM OAHOTUMNHOCTM AeTanen. MNpu c6opKe
OyabTe akKypaTHbI, YTOObI HE NOBPEAUTb AeTanu, T.K. 10 OKOHYaTeIbHOM COOPKU OHU HE UMEIOT
[I0CTATO4YHOM KECTKOCTU. Mcnonb3ynTe NOACTaBKU (Hanpumep, CTynbsl) Ha MPOMEKYTOYHbIX
3Tanax c60pKM AN paBHOMEPHOro MoAHATMA coBMpaemoro KapKkaca. a5 cOBMeLLEHMS OT-
BEPCTUM B CNIOXHbIX CTbIKax UCNONb3yWTe rBO3Ab AMaMETPOM 4MM MM 60POLOK C KOHYCHbIM
KoHLOM. [pn c60pKe KapKaca coeauMHeHne aeTtanew cneayeT ocyllecTBNSTb MO BCeM Npeayc-
MOTPEHHbLIM OTBEPCTUAM. «YNPOLEHHOE» COEANHEHWNE AeTanen aBASETCA HapylleHNEM NpaBu
COOPKM U OCHOBAHMEM A1 CHATUS TapaHTUMHbIX 0653aTeNbCTB C NPOU3BOAUTENS.

He yctaHaBnuBanTte Tennmuy 61n3K0o OT CTPOEHWI U AEPEBLEB, C KOTOPbIX MOTYT YNacTb CHer
unu nea. PekomeHayemoe paccTosiHue He meHee 2 M. Tennunua paccynTtaHa Ha BeTep He 6osee
24 m/c. MoKpbITUE TEMIULBI Ha 3UMHUI NEPUO] CHUMATb HEe HYXKHO NPW YCII0BUU OrPaHUYeHUs
CHEroBoMn Harpysku. Ecnv Tennuua octaHetcs 6e3 NpUcMoTPa Ha BCKO 3MMY, TO MOKynaTtenb
[IO/MKEH NGO CHATb NOKPbLITUE, MO0 OLIEHUTb BO3MOXHYIO CHErOBYIO Harpy3Ky. [1na Kapkaca
B MOJIHOM KOMMJ/IEKTALMMU C YCTAHOBIEHHBLIMU CTAXKaMM U GOKOBbIMM NOAKOCaMM NpeaenbHas
CHeroBasi Harpy3ka BO3HWKaEeT Npu Bece CHEroBoro nokposa 240 Kr Ha 1M? ropu3oHTabHOM
NOBEPXHOCTM 3EMJIU, YTO COOTBETCTBYET 60 CM TONLLMHbI CIEXKaBLIErocs cHera.

OYMUCTKA U MbITbE NOJIMKAPGOHATHDBIX JINCTOB
1. OnonocHUTE NUCT TENNOW BOAOW.
2. [NpomMowTe MMCT PacTBOPOM MSATKOrO Mbljia UM GbITOBbIM MOIOLLMM CPEACTBOM M TEMNJSION BO-
101, UCNOJNb3YA MATKYIO TPANKY UK TYOKY ANS yaaNeHus rpssu.
3. OnonocHUTe X0I0AHOM BOAOW M MPOTPUTE MATKON TPAMKOMN.

HuKoraa He UCnonb3ynTe ANa YACTKU NONMKapOOHaTHbIX IMCTOB abpasunBbl UK BbICOKOLLE-
JI0YHblE YUCTAWMe cocTaBbl. Cyxas NPOTMPKa NOBEPXHOCTM NOBPEANUT 3aLMUTHBIN CIIOM MOKPbI-
THUS M COKPATUT CPOK ero rogHoCTU. HUKoraa He TpuTe NoBEPXHOCTb MNONMKapPBGOHATHbIX IMCTOB
NpY NOMOLLM LWETOK, METANTU3UPOBAHHON TKaAHW UKW APYrMMK abpa3nMBHbIMKU MaTepuanamm.

Mpn gesnHdpeKumn Tennunubl oT BO36yauTenen rpubKoBbIX U 6aKTepuasbHbiX 60NE3HEN He
NPUMEHSATL «CEPHbIE WallKn» BO U36eKaHUM KOPPO3MK KapKaca.

FapaHTUHHbIE 06A3aTeNbCTBA
CpoK npeabsBAeHUsa NPeTEH3UI - 24 mecsua Co AHS MOKYMKK.
[apaHTUiHbIE 06593aTENbCTBA HE PACNPOCTPAHSIOTCS Ha Cy4Yau:
1. YcTaHOBKa TeNuUbl C HapylweHueM TpeboBaHUn MHCTPYKLUK.
2. HapylweHune npaBun akcnayataumu.
3. Ucnonb3oBaHue TenuLbl HE N0 HA3HAYEHMUIO.
4. lepopmaunn TeNNULbI BCNeACTBME NOABUIKKMU FPYHTa.
5. HaBogHeHus, yparaHbl, Apyrue CTuXmiHble 6eACTBHS.

[aTta narotoBneHums:

Mpeanpustue - narotosutens: 000 «Bons»
141983, r. ly6Ha MocKkoBcKow o6nacTtu, nep. CeBepHbiv 4.8.
MpennpusiTue - U3roToBUTENb HECET OTBETCTBEHHOCTb 3a KAYeCTBO NPOAYKLUMUK B cooTBETCTBUM ¢ K PO.
MpeanpusTUe ocTaBNSET 3a COGOM NPaBO Ha BHECEHWE UBMEHEHMWIN B KOHCTPYKLIMIO TEMULIbI.

4

TexHnyeckmn nacnopt «JayHas [BywkKa»/ Technical certificate «<Dachnaya Dvushka»

Operation rules

Before the start of operation, the greenhouse should be assembled and installed
as prescribed in the manual. When the greenhouse is assembled by a third party the
customer should supervise the quality of works to ensure compliance with the present
manual. Some detail have extra holes due to uniformity of details. During assembly, be
careful not to damage the parts, because until they assembled fully, they do not have
sufficient rigidity. Use supports (e.g., chairs) at intermediate stages of assembly to evenly
raise the assembled frame. To align the holes in difficult joints use a nail with a diameter
of 4mm or mandrel with a conical end. During assembly of the frame details’ connections
should be Implemented for all specified openings. Simplified connection of the parts is
a violation of assembly rules and cause of removal warranty support by manufacturer.

Do notinstallthe greenhouse too close to buildings or trees where masses of snow/ice can fall
onit. Recommendeddistanceisatleast2m.The greenhouseisdesignedtowithstandwind atthe
speed below 24 m/sec. The greenhouse cladding should not be removed for the winter period if
snow loadislimited. Ifthe greenhouseisleft unattended forthe entire winterthe customer should
either remove the cladding or estimate the possible snow load. For the frame assembled with
all parts including strainers and braces, the maximal snow load begins when the layer of snow
weightis 240 kg per 1 sgm of horizontal surface which correspondsto 60 cm of the packed snow.

Cleaning and washing sheets of polycarbonate
1. Rinse the sheet with warm water.
2. Wash the sheet with a solution of mild soap or with a household detergent and warm
water, using a soft rag or a sponge to remove dirt.
3. Rinse with cold water and wipe with a soft cloth.

Never use abrasives or highly alkaline cleaning compositions for cleaning polycarbonate
sheets. Dry rubbing of the surface will damage the protective layer of the cladding and
shorten its shelf life. Never rub the surface of polycarbonate sheets with brushes, metallic
cloth or other abrasive materials.

When disinfecting the greenhouse from pathogens causing fungal and bacterial diseases,
do not use «sulfur blocks» to avoid frame corrosion.

Warranty liabilities
Term for making claims is 24 months from the day of purchase.
Warranty does not apply to cases of:
1. Greenhouse installation in violation of instruction requirements
2. Violation of the rules of operation.
3. Inappropriate use of the greenhouse.
4. Deformation of the greenhouse as a result of ground movement.
5. Floods, hurricanes and other natural disasters.

Production date

Manufacturer: Volya LLC
8 Severnyi Pereulok, Dubna, Moscow Oblast 141983
Manufacturer is responsible for quality of products in accordance with RF Civil Code.
Manufacturer reserves right to change design of greenhouse



TexHunyeckui nacnopt «JadyHas [BylwkKa»/ Technical certificate «<Dachnaya Dvushka»

KOMMJIEKTALIUAA BA3A/ STANDARD SUPPLY SET

TexHnyeckmn nacnopt «JayHas [BywkKa»/ Technical certificate «<Dachnaya Dvushka»

Ne Mz';:((:- BUA HauMeHoBaHue AJIMHA, M |KON-BO, LUT.
n?arkin : view denomination length, m| q-ty, pcs
_ - = BepTtuKanb $opToyKM nog netnu
20| 131 S Window vertical element for hinges 0.6 2
- N [opu3oHTanb GopPTOYKHK
21| 13-2 o Window horizontal element 0.71 4
2 = [wnaroHanb asepun/dopToyKM Manas
22 14 N Small door/window diagonal 0.86 6
- = | QnaroHanb asepun/GopToyKm 6onbLias
23 15 S Large door/window diagonal 0.9 6
e = | CTSKa BEpXHSAS
24 22 N4 Upper strainer 1.12 1
2 . |MNoakoc
25 23 04 Brace 1.02 4
=/~ | YKoc yrnoso#n
26 26 7 Angled bevel 0.24 4
Kptoyok ana asepu n GopTouKku
27 ) / Hook for door and small windows 0.35 4
4 nAKET/4 PACKAGE
- Pyuyka HaGop
28 ) = \V Handle kit 4
3awénka
29 ) 2 Latch 4
CKot4
30 } Adhesive tape 1
31 . : KpoHLWWTenH ans Kptoyka 8
Bracket for the hook
32 . MeTtna ona nBepu U GOPTOUKHK 8
Loops for doors and windows
MnactuHa
33 ) Plate 4
MnactuHa
34 ) Plate 16
35 . @ BTynka Ha py4Ky 8

Handle bushing

Ne M(a)[;:((:— BUA HauMeHoBaHue AJIMHA, M| KOJ1-BO, LUT.
n?a rking view denomination length, m| q-ty, pcs
1 nAKET/1 PACKAGE
~. s/ |CroiKa
1 1 N Stand 1.25 6
= /=~ | MpOroH KpanHumn
2 2K V') End balk 0.96 8
- A [TpOroH KOHbKOBLIN
3 2KK Y Ridge balk 0.98 2
2 = MporoH
4 2y Y Balk 1.04 4
- = Onopa
5 3 ') Support 0.14 10
5 = Crorka pyHAaMeHTHas
6 24 S Base stand 0.35 10
2 MNAKET/2 PACKAGE
7 4H /’% [yra HUKHAS 0.97 6
Bottom arc )
= | Qyra BepxHsasa
8| aB /r Uoer ool 1.25 1
= | Qyra BepxHas KpanHas
9 48K /f— Upper end wall arch 1.25 2
3 NAKET/3 PACKAGE
Yeunutenb TopueBom
10 yc End ampflifier 0.6 4
T CTsiXKKa TopLeBas
11 8 S End wall connecting bar 0.56 8
- = CTsXKKa ABEPHOro Npoéma
12 10 SV Doorway tie 0.82 4
e = CToMKa NpoéMa HUKHASA
13 o1 S Bottom door opening stand 1.23 4
- A CToMKa Npoéma BepxHsia npaBas
14 9-2 S Right top door opening stand 0.92 2
A aY CToliKa npoéma BepxHAs neBas
15 93 4 Left top door opening stand 0.92 2
=/~ |BepTuKanb geepu
16 12 S Door vertical element 1.17 2
g ~~. /~ | BepTvkanb aBepu noj netiu
17 12-1 a4 Door vertical element for hinges 1.17 2
- ot [opu3oHTanb ABepu
18| 122 S Door horizontal element 0.71 6
2 = BepTnKanb GpopToUKHM
19 13 S Window vertical element 0.6 2
6




TexHunyeckni nacnopt «JadyHas [BywkKa»/ Technical certificate «<Dachnaya Dvushka»

N2

BUA
view

HauMeHoBaHue
denomination

AJIMHA, M
length, m

KOn-BO, WIT.

a-ty, pcs

36

0 inch

0 cm 1

\I- 11 ]II:I|II I|II:

BuHT M5x12
M5x12 screw

48

BuHT M4x10
M4x10 screw

380

BuHT M4x14
M4x14 screw

68

BuHT M4x30
M4x30 screw

140

40 |

Camopes 4,8x12 ocTpbin
4.8x11 sharp-tipped screw

41

[anka M4
M4 nut

588

42

[anka M5
M5 nut

48

43

LWan6a 10
10 washer

44

|| WaiGa 32x4
/| 32x4 washer

140

5 NAKET/5 PACKAGE

45

YnnoTHUTENb TOPLIEBOM
Butt end strip

6 NAKET/6 PACKAGE *

46

Y11

OxaHTOBKa Ans Asepu
Door lining

0.61

47

Y12

OxaHTOBKa Ans Asepu
Door lining

0.59

48

Y13

OxaHTOBKa Ans Asepu
Door lining

0.59

49

Y14

OxaHTOBKa Ans Asepu
Door lining

0.61

50

Y15

OKaHTOBKa 419 GOPTOYKM
Window lining

0.74

51

Y16

OKaHTOBKa 415 GOPTOYKH
Window lining

0.67

52

Y17

OKaHTOBKa 415 GOPTOYKM
Window lining

0.67

NIN]IHINININIDN

TexHnyeckmn nacnopt «JayHas [Bywka»/ Technical certificate «<Dachnaya Dvushka»

KOMNNEKTALUA BCTABKA/ EXTENSION INSERT KIT

o M‘a)g"‘(:' BuA HauMeHoBaHue AJIMHA, M|KOJI-BO, LUT.
n':arkin view denomination length, m| g-ty, pcs
1 nAKET/1 PACKAGE
/=Y CToMKa
1 1 \/ Stand 125 *
SN A I'Ipor0H
2 2 \ Balk 1.05 12
=/~ |MporoH kKoHbKOBbIM
3| 2KK 7/ Ridge balk 0-98 >
A0 Onopa
A0 Croika pyHaameHTHas
5 24 \/ Base stand 0-35 *
= s~ | CTaxKa BepxHas
6 22 \Vi4 Upper strainer 112 2
AOUA Moakoc
7 23 \./ Brace 102 8
=~ | YKoc yrnosow
8 26 /" | Angled bevel 024 °
: BvHT M4x10
9 - - M4x10 screw o2
BuHT M4Xx30
10 c e M4x25 screw °
BuHT M4Xx35
11 S i M4x35 screw °
lanka M4
12 - & Imanut 108
LWan6a 32x4
13 - \" |32x4 washer 10
2 NAKET/2 PACKAGE
14 an /"% [yra HUxHAA 0.97 4
Bottom arc
~ | Ayra BepxHas
15| 4B /' Upper arch 125 2

*-B KOMNeKTauuio 6 NakeT He BXOAMT, OH NpuobpeTaeTcs OTAeNbHO NO 3asiBKe NoKynaTens.
MHdopmMaLmio 0 ycTaHOBKe CM. Ha cTp.34-36.
*-6 package is notincluded in complectation, it is supplied following the customer’s request.
Information about installing are on pages 34-36.

9



Oowumit B Kapkaca BA3A [lauHas [1Byluka

O6wui B Kapkaca BCTABKA [lauHan [iByluKa
General view of the INSERT for Dachnaya Dvushka greenhouse

3.

Dachnaya Dvushka extended by any

number of inserts:

YanuHenune 5A3bl BCTABKOM
(n1060e KonuuecTso):

10

B cnyyae ycTaHOBKM TEMNMMULbI HA GyHAAMEHT (cm.n. 6.2) getann 24 n 3 He cobupa-
I0TCS U HE YCTaHaBNMBALIOTCS B Aa/bHeWLWwen c60pKe.

If the greenhouse is mounted on a foundation (see para. 6.2), the elements 24 and
3 are not assembled and are not mounted in the subsequent assembly.

N261naKeT N992|aKeT ....... N972naKeT ...... N911naKeT .....
: package §§= package : package - : package :
e wr, *° : ST WrT. -
PN 20 i T 200
ENe5 4 mamer
: package :

feo SN D ng

naket
....... package

(4
M4x10 M4

nakert
package

1. (@ 4pc !
M4x10 M4

naket
package

(il (¢ 35t

M4x10 M4

naxKeT

package
i ¢ 25c:
M4x10 M4

11



2 1 N°8..2..KT ...... ..N°7..2..KT ...... Nozl_l.K}:
- .

package &3 package :: package:

33:/’"‘“ 1%5/ pun ﬁr\ﬁ 2%

: Ne6 4 naker :: Ne5 4 naker_
. package : : package :

1 2 e ) 20

naxket
package

(& 45
M4x10 M4 _

" pnaket
4package

(I (¢ 44
M4x10 M4

naxket

package .
B (¢ 3¢
M4x10 M4

naxket
package

(¢ 2
M4x10 M4

12

package ; 3 package : : package :

22 “N;’é:ﬁ;‘é ........... g :.N;é.z'...é ........... ; ;.N(;.2..6..é ........... ;
p\_/—\4LUT:p\_/—\1LUT p\_/—\4UJT

naxket
package

naxker
package e

(. (o 24
M4x10 M4

......

naket
package
......... h- \‘,4pc

M4x10 M4

naxker

........ package
I'IaKET Q- \!,6%_(?
package M4x10 M4

13



—
31 L e |
LRV S

PNe3' "y maker tiNed 4 naker
3 : package :: package :
. : :

naxker
package

naxket
package

il (¢ 3¢
M4x10 M4

naket

................. package
(¢ 2980 -
M4x10 M4 ’

naket
package

(@ 25c
M4x10 M4 G

naxkert

package
naket " \!,3pc.
package M4x10 M4
\ WT. ¢
M4x10 M4 R

14 15



.

naxket
package

(S (¢ 35
M4x10 M4

3 : Ne3 4 naker
: package :
.5 X Ry 1 et
N\ pc. :

naxket
package

(I ¢ 25
M4x10 M4

naket

package .
I Wt
i ¢ 250§
M4x10 M4

..

16

4 :Nel13 3 naker : Ne14 3 naker : Nelb 3 naker Nel1l 3 naker

package : package : package ;: package :

{;’—""\k CE \L : 3 package :

: Ne6 4 naker :
. package :

: Ne5 4 naker :
: package :

nakert
package

(D (¢ 25

naxer M4x10 M4
package P
i LT,
(¢ 25
M4x10 M4

naker
package

(D (¢ 25
M4x10 N4

naket
package

naket
package

..... : (B (@ 5pd -
............. Wax10 Nia

17



naker
package

B (024
M4x10 M4

18

BU U3HYTPH )
inside view .-

naketr
package

package
(D (€ 25
{M4x10 M4

MnaH onnpaHuKa cToek Tennubl Ha GyHAAMEHT.
2 The arrangement plan stands of the greenhouse on the foundation.

< 2000 5
< 580 . 840 i<
A A A 3
o
S
S
-~
l, IEs’
TA
- e
E o
g =
2 - =
z 5
= o)
S A Re)
o 23 % N
o i
N o
+ o)
3 gl &
o S
<ﬁl — 4
L
J
B T
o
S
S
—
v L Y ¥

L - AnnHa TennuLbl No LeHTpasibHbIM OCAM Jyr;

L- the length of a greenhouse through the arcs’ central axes
N- KonnM4yecTBO BCTABOK.

N - quantity of greenhouse’s sections

19



POLYCARBONATE CUTTING

CoToBbIN MoOAMKapboHaT ycTaHaBMBAETCA CTPOro ONpeaenéHHOM CTOPOHOM Hapyxy (K
COJHLY), UMeloLLEeN 3aLUNUTHBIA CMOW. 3alMTHbIA CNOM 06bIYHO MMEET CTOPOHA C HaAMUCaIMH
Ha TPaHCNOPTUPOBOYHOM MNEHKe. C Apyron CTOPOHbI NUCTa NEHKa npo3payHas. Mocne pas-
METKM NIUCTa, HO O ero pa3pesKu, caenamnte NOMETKU 3alUTHOM CTOPOHLI JICTA Ha KaXKaoMm
KYCKe: Nocie CHATUS TPAHCMOPTUPOBOYHOM MAEHKM CTOPOHbI JIMCTA BM3YaslbHO HE OT/IMYatOTCS.
TpaHcNopTMPOBOYHas NNEHKA CHMMaeTCs ¢ 06enx CTOPOH HEMOCPEACTBEHHO Nepej 3aKkpense-
HMEM NOKPbLITUS Ha KapKace.

Cellular polycarbonate panels are installed with a certain surface, which has a protective
layer, outside (towards the sun). The protective layer usually has a side with the inscriptions on
the transportation film. The other side of the film is transparent. Mark the protective side of the
sheet in each panel because after removing the transportation film, the sides of the panel do
not visually differ. The transportation film should be removed from both surfaces before fixing
the glazing on the frame.

7 PACKPOMW NOJIMKAPEOHATA

2320

Cutting line

Jlnnua pesa

2100

_E‘}é’

JInHna pesa
Cutting line

-“
)

640

A

815

Y
A

Y

— |

___g><_’

600

6000

A

2320

Y

20

Y

Cpe3bl nonnkapboHata ¢
OTKPbITBIMK COTamMu HeobXo-
[AMMO OKJIEUTb CKOTYEM.

It is necessary to stick
the adhesive tape over the
open polycarbonate shearing
surfaces.

21



:Nel17 5 naker §§N2183naKeT : :Ne16 , naxer

8 l.'IBepb C neTaasMM1 HaBeCKHM cneBa 3ackase LT 3o ckase -
1 . - . : package : : package ; 3 package :
.............. Door with h“'ged I““ges on the left 5'-'@;:-‘ o4 W - 5‘.'”‘;:1 /A3 U RPN .

------- T L AT S e HERT

§N9223 naker_ :

package :

:Ne23 3 maker
. package :

" néKeT
package
(i (¢ 35t
M4x10 M4

naker . .
package T : s Do 2 E)UTI :
(i (¢ 34E S - : - S :
e vpc. | e LU L AL
M4x10 M4 (N e R U L A AL LN

§Né§2£;i'n};&é%"'§
: package :'.

wr.
1

:N232 m E L N Sl SN (RS g e
4package§\:‘ﬂk .

3 wr ® :

] ......... Vi = naket

package
naket

L O WL T e o
package ?\‘ '\SJ2W ||
(i (@ QW R ka0 VA

naket
package

{ Wt
Ml \5,5 o
M4x10 M4

nakert
package

Secessssssssscccesee
...................

naxket
package

nakert

naket package
= ‘ f T,
. package ' | . - { \‘/390-
{0 & e, M M4x10 M4

22 23



8 ABepb ¢ NeTAAMHU HAaBEeCKM cnpaBa
Door with hinged hinges on the right P

‘Ne16 A naker EEN9183naKeT $tNed7 naker
: 3package §:N package :: 3package :
. . ol

naxket
package

. s s B e WwT.
naket LT/ ur: ?\“ \‘/39‘3-
package o ssssasssspasesqes M4x10 M4

A wL 222 : g
?\“ \!_,3 pc. 3na
M4x10 M4 package : A

N9344 naker_ *

naker
package

- . package :
?\“ \!_, 2 ILDU% q :
M4x10 M4 e,
: packages. I iy - v : : s : - iNe32 4 narer
Ll B . : AN naket . package:
1 Eu% :\J 12 Jooooe, LI . ! s X P =3 package ./E [ 1 wr
............,..:...E I u K\. .'.. :' < '-... o ‘."__;-_;"/ ) t" \512;3”% i § | pc
I'IaKET N @ ve < M5x12 M5 | Begrrereenceareend
package . &
i wr. I/. ; K ~ .
£ Ul 25 QD - . naKer
M4x10 M.4 " @ /g g7 T package

naxket
package

S

.....
. .,

§N9344 naker  *
. package:

.
- .
..............

naket
package

naket
package

BB 44
M4x10 M4

..................... 05

24



Tamu, YTONUB rONOBKY BMHTa B NofiMKapboHaTe.
Put the polycarbonate on the door frame, fix it at the 4 corners of the frame
with screws, drowning the screw head in the polycarbonate.
ﬂBepb C neTnsdMMu HAaBECKM c/ieBa

Door with hinged hinges on the left

8 HanouTe nofMKap6oHaT Ha KapKac ABEPH 1 3aKpenuTe ero no yrnam 4 BuH-

naket
package

mi WT.
M4x10 M4

naxket

package
i WT.
M4x10 M4

ABepb ¢ NeTASAMM HAaBECKMU cnpaBa
e, .Door with hinged hinges on theright ...

5

®

naxket
package

ac "
b @ 253
M4x10 M4

naket
package
(D (¢ 44T

~ -
M4x10 M4

26

| c;‘ 4 naxet/package
i = AN G ) (¢ 185
| == ‘ i M4x30 4x32 M4
! iNe31 4 naker
) .-I < : package :
We N qu
= ; : pC. }
’ LM Seeecsecsscsccsccessecss
I <> I
R & 1 <
‘ |
< ®
l !
<> ! W
1 l CE‘:") |
> |

=0

%l

eeereeencecnreraaennt 27



fNe20 ynawer :iNe22 omamer & iNe2l_nawer fNe23 gnaker : iNed9 naer
9.1 3package 3package 3package 3package 3package§

e o . e N . . . . o
teh A ] WL s s A WL s s s g o) WT e e N 111
26 \/ 1 pc. : :"'z \ 1 pc. : :9{ \/ \2pc.: :"'R \ 1 pc. : ¢

nakert
package

W (¢ 3¢
M4x10 M4

nakert
package

(¢ 45
M4x:I:O M4

iNe34 y naker

package :

naxker
package

nakert
package

{M4x10 M4

naxker

nakert naketr

package package N package
""" : Y \ T e
& 256 b ¢ S54E e} (il (¢ 35T
M4x10 M4 —1-3= O M4x10 M4
—a— .
S B [0]] 19 ’

naKket

package
(¢ 2
M4x10 M4

28



Hanoxwute noarkapboHaT Ha kapkac GOPTOUKM U 3aKpenuTe ero no yraam 4
BWHTaMMU, YTOMMB FOAOBKY BUHTa B NOAMKapboHare.
Put the polycarbonate on the window frame, fix it at the 4 corners of the
frame with screws, drowning the screw head in the polycarbonate.

naxKeT

T package
Sl
&65 M4x10 M4
re

naxket
package

(b (¢ 44
M4x10 M4

4 naxet/package
' | wr.
) ¢ 12c:
M4x30 4x32 M4

fNe31 4 naker
package :

30

&

iNo34 y paer

package :

naxket 5
package
i (@ 44T
M5x12 M5

:Ne29 /4 naker
: package :

wr. ¢
18

naker
package:

:Ne28 4 Darer
: package

.
.............................................



Ned5 & naver:
- ~ package:
\ — Mo
J:} \N 6 m E

) 3alWUTHbIV CION
protective layer

B I S

X2

4 naket/package

LUT.
“:“@&2 pe:
M4x30 4x32 M4

/I\ He fonycKainTe Yepe3MepHOW 3aTAMKU BUHTOB KPErieHUs nosimKap-
- 60oHaTa BO M36EMaHWM CMATUS NOMKap6oHaTa U paspyLieH1s COT.

Avoid excessive tightening of fastening screws to prevent crumbling
- of polycarbonate and destruction of cellular.

4 naxet/package

T
“:“@&2 bC:
M4x30 4x32 M4

: package : : package :

4 naxet/package

WT.
“Z""@é; e
M4x30 4x32 M4

3aLUUTHBIN Crown
protective layer

33



U GOPTOUYKU. [IONOJIHUTE/IbHbIA KOMIUIEKT (MpUoOGpeTaeTcs OTAENbHO).

YcTaHOBKa feKopaTMBHOW CTa/lbHOM OKAHTOBKM (YIUJIOTHUTE/Ib) HaA ABepU
13 Mounting of decorative steel lining on the doors and windows (seal).

{Ned8 g naker 1iNed7 g maer :iNed8'g nawer :iNed9 g maer
: package :: package :: package :: package :
o . M::N : — WT. ¢ - . M::‘. - . WT. *
5 - 1pc; - 1pc. - 1pc; - 1pc.§

fNe31 y nawer
package :

[Bepb ¢ NeTNAMN HaBECKHU cneBa

Door with hinged hinges on the left I %

naKeT
package

Q™ \%/1 be:
Max14 M4

4 naket/package

G () (¢ 6 e
M4x30 4x32 M4

§N2466 naket §§N947 @ naker §§N9486 naket §§N9496 naker

: package : : package : package : 3 package :
o e qwni N e g i® e qUWLiid o~ quwrL:
5 1pc.§§; 1pc.§§; 1pc.§i; 1ot

[iBepb ¢ NneTnsAMU HaBeCKM cnpaBa
,,,,,,,,,,,,,,,,,,,,,,, Door with hinged hinges on the right

:Ne31 naker_ :
4 package : % qL

naxket
package

Q" \%/1 be:
M4x14 M4

4 naket/package

G () (¢ 6 pe:
M4x30 4x32 M4

O]
®




iNe51 g maker : iNe5O g namer : iNeb2 g naker  :
: package : : package : : package :

iNe31 4 naer
: package :

naker
package

(- (¢ 185
M4x14 M4




